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R(O) = <cos€ —sinH)

sin@ cosd

_(cos(=0) —sin(=0)\ [ cosf sind
R(=0) = (sin(—@) cos(—0) ) - <—sin«9 COS H)
20—sin 20
R(20) = [ €S
(26) (sin 20cos 20 )

[ (cos 0)% — (sin 8)*—2 sin O cos O
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Raup (1962, 1966), Raup & Michelson (1965)
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NumPy : B8 - T EZ1 75

- . BREEIENEL < HETBIHD/Cy I —Y
o NumPy | gassEstsRoEiaBELs=EshTng

%R 7oilicdl ndarray Python® U Z ~ ZFI &
AEEORY, BERERUETRFNEESAL. | BEROBEFL TRANSL
# 01-01. ndarray

e import numpy as np

import numpy as np NumPyZ{ERR T BEEIEnp & L\ SBRIFCTA 2 ik—

M9 D ED—RRHEY.
# 7.1 ndarray

np.array( [

a
b = np.array([
C = np.array([I[

numpy

e array(JRRK) : URMCEDTZRITHS %
B9 . EXRIFFEIVERTRITNIERS R
L (BANRERBIGEIEL Y ERNQRIAZTIR
(PYyTE£v+ ) TN3) .

np.array([; :
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NumPy : 8fEZHE - TGt EZ 172U

% XJulcdl ndarray Python® U 2 k iZ A EE
HAEEORY. EXRERACEcATNERS KL, | BROESHIALTRMN T

# 01-02. ndarray®EH # (EXD) &

print(a.dtype)
# BoH DRI print(D.dtype)

#4 7]
(3,)
(3, 3)
1

2
int64

print(a.shape)
print(C.shape) # EHDF v A b

e = a.astype(float)
# RIT F = D.astype(int)

| ' int(e)
print(b.ndim) prin
print(D.ndim) print(F)

float64

[1. 2. 3.]
([ 2 4 7]
[ 7 9 1]
[11 2 9]]

numpy

o fic%l.shape ECHIDHIRN (B, 18, FS, JRE) ZEEULZY TV
o EZ%l.ndim EEHIDIRIT

o fig%l.dtype EEHINE (BERICEDRZRDON)

o ficdl.astype EHIDF v R b, HFEDERALTITES.
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NumPy : 8EFTE - TRt E 172 Y
BEARZEE (1)

# 01-03. EANLEE #H 7

a+b: [7. 5.3 4.
b - a: [ 5. 1.3
C + D:

[[ 3.3 9. 13.2]
[14. 17. 10. ]

[15. 4. 12. 1]

]
2. ]
# BRITOME - HE

+ b: ", a + b)

a: ",b - a) e -1
D: \n::, C + D) 1 3FS X7 BMILYPTT [0 -1 8]
FeoAn®, C = F) FIDEE & 1371, 70 e

# R DRITOME - BE chsiBRIEL,

prlnt( D — b: \n", D - b) 42U RIND.

—_ Sie i a+Cl

# R - [RE DHARERIE

print("axb: ", a x b) ExRCeomE  erravilatiol

print("C/a: \n", C / a) a+C[2]1)

ERDIA—D

ZDHEDDHEIOWIL=ILZHMD WEEREBARKRF 21 XAV M ESE.

https://docs.scipy.org/doc/numpy/reference/ufuncs.htmi#broadcasting 13



https://docs.scipy.org/doc/numpy/reference/ufuncs.html#broadcasting

NumPy : 8fEZHE - TGt EZ 172U

HAWGEE (2) NumPyORHEERNICERNDOERS LICBERATND,

0100, EATLERE o EE FEURE#HT (BHOEERZ) WLV

EEICEFIGEERE. S UIUEZ~RY
# e ML{EUTz (vectrized) EtEEER S
print("akxx2: ", akxk2) EhH 3.

print("np.exp(2): ", np.exp(2))
print("np.exp(a): ", np.exp(a))

# X
print("np.log(2): ", np.log(2))

#4H
a*xx2: [1 4 9]
np.exp(2): 7.38905609893065

np.exp(a): [ 2.71828183 7.3890561 20.08553692]
np.log(2): 0.6931471805599453
np.log(C):

[[O. 1.60943791 1.79175947]

[1.94591015 2.07944154 2.19722458]

[1.38629436 0.69314718 1.09861229]]

print("np.log(C): \n", np.log(C))

# FAR

print("np.sqrt(2): ", np.sqrt(2))
print("np.sqrt(b): ", np.sqrt(b))

np.sqrt(2): 1.4142135623730951
np.sqrt(b): [2.44948974 1.81659021 1.
np.sin(np.pi/2): 1.0
np.sin(D):
[[ 0.74570521 -0.7568025 0.79366786]
[ 0.6569866 0.41211849 0.84147098]
[-0.99999021 0.90929743 0.412118491]]
np.cos(e): [ 0.54030231 -0.41614684 -0.9899925 ]

# =AY

print("np.sin(np.pi/2): ", np.sin(np.pi/2))
print("np.sin(D): \n", np.sin(D))
print("np.cos(e): ", np.cos(e))
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NumPy : 8fEZHE - TGt EZ 172U

. i B E NS R LOIFIIH B WNET S VL E B LT
# 01-05. X7 KNJL - 175

# R NLOEREER
print("a+b:
print("a-b:
print("3xa: ",3 *x a

.b, np.dot(a,b): 15.6
, hp.cross(a,b): [-7.917. -8.7]

C+D:

[[L 3.3 9. 13.2]

[14. 17. 10. ]

[15. 4. 12. 1]
C-D:

[[-1.3 1. -1.2]

[ 0. -1. 8. 1

[-7. 0. -6. 1]
2*C:

[[L 2 10 12]

[14 16 18]

[ 8 4 6]]
C.a, np.dot(C,a): [29 50 17]
C.D, np.dot(C,D):

[[103.3 61. 66.2]

[171.1 118. 139.4]

[ 56.2 40. 57.81]
D.C, np.dot(D,C):

[[ 59.1 57.9 71.4]

[ 74. 109. 126. ]

[ 61. 89. 111. 1]

# XU KN)LOHNE - &

print("a.b, np.dot(a,b): ", np.dot(a,b))
print("axb, np.cross(a,b): ", np.cross(a,b))

# THIOEREE

print("C+D: \n", C + D)
print("C-D: \n", C - D)
print("2xC: \n", 2 *x C)

# TIDEERE
print("C.a,

print("C.D,
print("D.C,




NumPy : 8fEZHE - TGt EZ 172U

N7 R8IV T8 (2) sefgmioEiaEgsmAssnTun

# 01-06. R IFEEE
# ERE1TY

print("C~T, C.transpose(): ", C.transpose())
print("C~T, np.transpose(C): ", np.transpose(C))

# 175X

print("|D|, np.linalg.det(D): ", np.linalg.det(D))
# 115

print("F~-1, np.linalg.inv(F): ”, np.linalg.inv(F))
# BEBE - BBaXN7 K~

print(“np.linalg.eig(C): ", np.linalg.eig(C))

print("EBMEDHA, np.linalg.eigvals(C): ", np.linalg.eigvals(C))

#H 7]
C*T, C.transpose(): [[1 7 4]
[5 8 2]
[6 9 3]1]
C*T, np.transpose(C): [[1 7 4]
[5 8 2]
[6 9 31]
ID|, np.linalg.det(D): -638.3000000000005
F*-1, np.linalg.inv(F) [[-0.12248062 ©0.03410853 0.09147287]
[ 0.08062016 ©.09147287 -0.07286822]
[ 0.13178295 -0.0620155 0.01550388]]
np.linalg.eig(F) (array([14.72735221, -3.28537742, 0.55802521]), array([[ 0.43801562, 0.85468529, -0.00703173],
[ 0.84944136, -0.12913467, -0.76794748],
[ 0.29426465, -0.50282928, 0.6404742111))
BEBEDH, np.linalg.eigvals(F) [14.72735221 -3.28537742 0.55802521] 16




NumPy : B8 - T EZ1 75

ZDMICHEIERDHEZENICE RS DEEH L
;%E}'(JC)‘ftt!‘j[)’E;Ea:;£S[ D Z =%

AESNTW5S, numpy
e zeros(shape) : FeikH'shapeD I AR THOEZN L ODES!

01-07. < DMDEF]ZEE RT3
e identity(n) :n x nDBAITIZESERKT S
BES D AR e linspace(start, stop, num) : startDhSstopETD

EICnumBDIEZE DEFIZERM T D (stopZED) .
np.zeros([3,4])

np.identity(3)

np. linspace(1, 2, 10)
prlnt(“Z \n", Z)
print("I: \n", I)
print("r: ", r)

# 519 - WEt

print(’
print("
print("
print(’
print("np.sum(b
print("b.sum(): ",
("
(I
("
(I

[0. 0. 1.1]

r. [1. 111111717171 1.22222222 1.33333333 1.44444444
1.55555556

1.66666667 1.77777778 1.88888889 2. ]
np.max(a) 3 [1 2 3]

'np.max
a.max()
np.min(
)"
(

a.max() 3 [1 2 3]
np.min(C) 1 [[1 5 6]
[7 8 9]

|
C.min( [4 2 37]

C.min() 1 [[1 5 6]
[7 8 9]
[4 2 3]]
np.sum(b): 10.3 [6. 3.3 1. ]
b.sum(): 10.3 [6. 3.3 1. ]
np.mean(b): 3.4333333333333336
b.mean(): 3.4333333333333336 [6. 3.3 1. ]
np.median(b): 3.3
np.std(D): 3.3973846149975753

print("np.mean(b): ", np.mean(b))
print("b.mean(): ", b.mean(), b)
print("np.median(b): ", np.median(b))
print

'np.std(D): ", np.std(D))




FH# =z #x 2 5 : docstring

E#EEADdocstringD:ENN

def BB (/IS A—5):

anmn

Y ZEZ (docstring)

a“nnmn

QLI 1
QLI 2

RLIE N

return

Jupyter Notebook ETHdocstring=
FOHIT CENTES.

- Shift+Tab

1 ] B np.cos|

np.cos(*args, **kwargs)

ufunc

<ufunc 'cos'>

~/ .local/share/virtualenvs/code-5WzJ]11sL/1ib/python3.7/site-packages/numpy/__init

- PR

n [2] P
igna np.c rgs, ki
ufun
form:  <ufunc 'cos'>
~/.1 / / ualenvs/code-5WzJ11sL/1ib/python3.7/site-packages/numpy/__init__.p
cos(x, /, > h ="same_kind', order='K', dtype=None, subok=True[, signa b3jil)
Cos el
Parameter
rray_like
Input arra radi 5
: ndarray, None, or tuple of nd and None, 1
A loca which the 1t is stored. If provided h
. i o IE el idad

* docstring : BEHREDERAN. ESRICICESTIAD.
NumPy 2% 1)L Google A5 1 JLHB 2.
http://www.sphinx-doc.org/ja/stable/ext/napoleon.html
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XI5 A
# 02-01. WHSETA

import numpy as np

def logSpiral(a, r@, theta):
NS EUIRTE

X EERE D PEIRE % 3R 9 B2

Args:

a: XEUSEREDILKER

ro: ENROYHEAE
theta: [Cl#sF

Returns:
X, Y: XEURIE L DER(E

roxnp.exp(axtheta)
rxnp.cos(theta)
rknp.sin(theta)

return (x,y)




I 2 5 @h®7mvh

# 02-02. XIFURIED 7 H Y b L 45
import matplotlib.pyplot as plt

# INTA—=YDEKRTE
ro =1
a = 0.2

NGA—=FZEZTTAYFLTHES !

theta = np.linspace(0, 8*np.pi,1000) oERA0~8nE ¢SO ~

=5 =] I
# ERBEOHE (T>TEHULR) logSpiral B =R
X, y = logSpiral(a, r@, theta) FAUREE. x,VICIFEFNFNEZEES

&L T=numpyERFIRRA TN S
# 70wk
plt.figure(dpi = 200)

plt.axes().set_aspect('equal') XEHEYyEID R T—IVERUICT B
plt.plot(x,y)

e numpy.linspace(start, stop, num): starth SstopEX C=FHFBIRICETBDnunBNDERZE
DESZE(ED (num-19E19 D)
e matplotlib.pyplot
e axes() figurelRiElCaxes (PEiEEH, #HRAZXIEHEEDERZIRINT DANY)) ZEINT S.
e axes.Axes
e set_aspect() axesD7ARY kb (Hit/18) Z=5xETS. BFE (Tavto’) , AU

(’equal’) , HBIVIIEKRRREZIEETT . N
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Raup® €7 /L

RO () TEROREREZIRMT D

ﬁ—

0, g TINDO X—HRIRSNTC B

: i 2D 1 1
; cos) —sinf O COS ¢ / 1—D \
r(0,¢|W,T,D) = W2= | sinf cosf 0 0 |+ 0
D

AL OEE 0 S . IEARE

fcfcU, W>1TeR, -1<D<1 &9 5,

LR Y=
(o ( 2D )
W27r<1 +1+cosqb>cos€
_ ‘V%(lﬂ2-+1+mms¢)mn9
W2 <2T(% + 1) + sin¢>
\ y
ChicEDE7AOv LTS
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RaupETFILDEE

# 02-03. RaupDETI/L

def raup _model(W, T, D, theta, phi):
"MURAUPDETIL

RaupDETIVICEDEREEADEE (x, v, z) Z5itET 3.

Args:
W: SREILASE

T: B (ROEI)

D: SN S DB (BOXKEZ)
theta: ERICHD[EIERA

phi: FFROICH > fc[ElEA

Returns:
X, Y, z: REREDXEE, yEIEZE zFEEZED

TNETNDOEFE (DEHY)

w = Wxx(theta/(2xnp.pi))

X =w % (2«D/(1 = D) + 1 + np.cos(phi))*np.cos(theta)

y = —w % (24¢D/(1 = D) + 1 + np.cos(phi))*np.sin(theta)
z = —w*x (2Tx(D/(1 - D) + 1) + np.sin(phi))

return (x, vy, z)

1 0 O
Rm®m=1{0 -1 0
0O 0 -1

JOv rEICRYI<KTD
/=8I xEAE L) T180°[olER
STHTWLS
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RaupE®7 /)L ~70Ov ~

# 02-04. RaupDETILD T — : o
02-04. RaupDETFILOTHY h SRTTTOY FDEHICTOY FERISYT— (plotly)

import plotly.graph_objs as go MDgraph_objsZgo & LSEERFRCTA ik— bk

B o o EDELHDEVWARARRF 1 XY FBH
# RaupETIVICE DK REXEEZEDETE Plotly https://plotly.com/python
W = 10%%x0.2 numpy
T =1 e meshgrid(arrayld_1,
D =10.2 arrayld_2)

—XrohcSlarrayld_1&

theta_range = np.linspace(0,8%np.pi, 800 ) ar‘r‘ayld_2(:ﬁ\,\\, TNODRT
phi_range= np.linspace(@, 2*np.pi, 60) BFRD (EBECED) BFID)

theta, phi = np.meshgrid(theta_range, phi_range) A ~EEKT D.

3ROV ~DIZSHD

X, Y, z = raup_model(W, T, D, theta, phi) ST ) 3 R TR E A SR

#70v bk
fig = go.Figure( :
go.Surface(x=x, y=y, z=z, showscale=False) AN UTZRISTR O N SRMEZAFRK
’ |
fig.update_layout( s
scene = { 0w bEFICRED -
"aspectmode": "data" A T—=IVERZ DTz g
) -
fig.show()
25



https://plotly.com/python/

meshgrid D% &

# meshgrid
import matplotlib.pyplot as plt 101 @ . .
numpy as np |
. linspace(0,1,3) 28719 ¢ ¢
. linspace(2,3,6)
np.meshgrid(a,b) 261 @ ¢ ¢
np.meshgrid(a,b)
24 @ o 2
print(mesh)
22“.(1’9) <@ o
plt.axes().set _aspect("equal")
plt.scatter(x,y) 0] e e (0,1) e [(0,2)

—_
L

#4 7J o.'o o.'z o.'4 o.' 5 04'8 1 'o
[array([[0. , 0.5, 1. 1, / X B
[0. , 0.5, 1.

) EEfEfE & LT (x[0,0], y[0,01)% 5 D &

[0.
[0.
[0.

>~

| NN [y N [y N N |
II“ - - -
)

-

array([[2.
[2.
[2.
[2.
[2.
[3.

L
- -

e plt.scatter(X, Y ) : &5 (PURK)
XEYZEEEE Uitz <

WINDNNNNOOOOOOSO O
oo BN
(I oy T Y |

LW NDNDNDNN—,,, -

n (>2) BN S5 BFRDERICHEFIAFHEE




Surfacelc k5 70v N EDHEEE

plotly.graph_objects
e Surface(x=x_arr, y=y_arr, z=z_arr)

X, YV, zZIC2ZRTEHNZETCET, TOA TV IR ITDINT XN W ORME

=0V 93

AN
=

(x(i, 31, yli, 31, z[i, 3D

[FRaupEFILDoEpIctHY T B

iEjDA TV I RCHULTING A B
Uy im0y fLTW3S,
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